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1) First nnTpn
a) "RV 012 1097 MWYY 1920 K QTR WHIP PRAY 17 WK DOWIR "
b) " noo? W

2) Second nnTpi

a) Because o 129p can be brought only 195x °5% a person can’t bring a 1105 1279 on
noo 27y if he won’t be able to eat the 127p that night

b) It follows that on oo 29w there can be no >N avnw for a 2w *wwa nn &nv who
isn’t eligible to do 7%°2v and 1x11 and won’t be able to eat the 127p that night

3) Third 7P
a) noRw

i) can anod j27p be brought for a Y2w >y°awa nin &nw before his 77°2v and axt or
for yow xnv before his 79720

ii) Inshort is the 17 that "yaw &nu2 Ppam pome”
b) nawn
1) 27says yaw Xnv? PR PUMY PR

(1) Because the oo of owix *n" that were 1n71 to »1w nod and for whom there
was Nno v nw or 1P°71 on nod 27w deals also with YW >y awa nn xnv and
YW K1Y

(2) Those who disagree with 21 and say nn v paw XYY 1PN Pomw
2w >y aw3a hold that the mos deals only with 2w “wwa nn R

4) Fourth mnpn
a) 9w v aw onw a"7 :X A7 N1oIN
i) Xwptoa
(1) if owax > deals also with 5w y>awa nn kv and with yaw xnv



(2) why did 7wn tell them to bring *1w nos when 7wn could have told them
instead to do nxrm 79020 so that they could bring 1wxA nos that night

i) yrn

(1) mwn in fact told them that unless they did axrm 7%°20 they would have to
bring "1 oo instead of Nwx 1o

5) mwn as explained by m»oin
a) a person who is &b can’t bring WX 1105 and brings 1w rod instead
b) and he’s not n22 for not bringing WX oo

6) Mmoo

a) It must be that the mawn holds that yaw &nw 5w 1R pomw and the mawn deals only
with 2w "wwa nn xno

b) Because if the mawn holds that "yaw xnv 5y PP pumw PR and deals also with
7w Xav and 2w veawa nn Xno

i) | can accept that the mawn teaches that yaw &nv and a 12w *¥°2wa nn Xnw are
1171 to 21w nod

i) But we’d have this Xwp
(1) why does the mawn say that yw kv and 2w *¥°awa nin XY are N75m D

(2) when they should be n122 2»n for not having done 1xr1 and 7920 to make
themselves »xA to bring r1o» j29p

7) X"wann
a) Nwp to Mmoo

i) Since moon holds that for 27 who says that yaw v 5v 1R Pumw PR there’s
a n1> arn for yaw kv and 12w *yawa nn kv for not doing %7201 ARt Oon 27y
oo

i) When mooin said earlier that 21 holds that fwn told the wo1% ooxnv o°wix who
were 177w *y°awa nn knw that “if you don’t do 77°2v today you’ll miss 10D
X7 and you’ll have to bring "1w ros”

iii) why didn’t m»0n add that 7wn also told them “and for not doing 77°2v today
you’ll be n3 2»n”
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1) mwn

a)

7

i) Ifaperson didn’t bring 17w&" oo because he was &»v or 7177 7172 he brings
a "1 nod and isn’t n122 for not bringing Nwx 1o

b) xo°0
1) If a person didn’t bring NwKX 105 because he was a 33w or an 01X he brings a
1w noo and is n122 for not bringing Wy oo
2) XM
a) 7M1 2
i) aperson who’s i1 7772 doesn’t have to bring a WX 1oo but he can
arrange for a pwxn nos to be brought for him anyway
i) in other words "7x7 72y K"
b) nww 2
1) A person who’s 1P 7772 can’t arrange for a nwxn 1os to be brought for him
ii) In other words "7x7377 X% 772y X"
C) Xwp to nww 17

d)

i) The xwn of the mawn says that a xnv or 7P 7772 AW » brings a »xw oo if
TIWRA 10D 7wy R

i) There’s a mynwn from these words that 78717 772y °X
iii) Now
(1) This mynwn can’t apply to xnv because &n5y 15 agree for xnw that 702y °X
X R
(2) So it must be that the mynwn of nxn 12y °k applies to AP 7772 nw 7
T17°n by nww 2

i) although the mwn in the Rw1 doesn’t mention & outright the xw» still refers
to an 11X

i) and it’s for 1% — and not for 7?11 717 — that there’s a mynwn that 792y °X
7%

WR 27



1) Here’s proof that supports nww 21 that the 7awn refers to persons it doesn’t
mention outright

(1) The nawn says there can be a n75 avn for cases listed in the xo°0 and lists
A and o1R in the 8970

(2) But

(a) why would there be n95 for a xw whose xw-mistake prevents him
from bringing a j29p

(b) and why would there be n1> for an o1 who can’t bring a j29p

(3) So it must be that the x5°0 applies to a 71 who’s not directly mentioned in
the 7awn and who could have brought pwxa oo and didn’t

i) So it’s not surprising that the 71w» in the Xw>1 also deals with 1% who’s not
directly mentioned

3) mooin
a) Nwp

1) The 1% to which the mawn refers and for whom there’s a mynwn of 722y °X
7% according to nww 21 is either a a»w and has a »»w 17 or a 712 and has a
YT

i) why does nww 21 say that the mawn refers to 1% as a separate case
4) R"wamn
a) Nwp
i) How could msoin in its X*wp even consider that the 1R is a aw

ii) Since for an 1% who’s a W his aw-mistake prevents him from even
thinking about bringing a 1297 so the myn»wn» of 787 7°2v °R can’t apply to
him

b) v

i) must be that the correct X0 in the x*wp of mooin is that mooIn understood
that

(1) nww 21 says the mwn deals with an 1338 who’s 7122 and it’s for this 138
that there’s a nwnwn in the mawn that x50 7°2v O

(2) and nm»ooin asks only why the mawn needs to refer to 111x separately from
paitaRalgle)
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1) First anTpn

a) Based on the s of 195X *5% a person can’t bring a 1o 1277 if he won’t be able to
eat the 1217 the night of nos

2) Second mnTpi
a) NP
i) "R T2 R WP RAv DT 0D WIR WK
3) Third 7P
a) In prior o271 we established that

i) For the anx7 1&%n that "yow nkmv v PP pumw" the p1oo deals only with xinv
W wwa nn

il) For the anx7 &7 that "yaw nkmv 2 PR pumw PR" the p10o deals also with
9w v awa N Xnv and YOw Xno

b) Xn%y 75 agree that PP pumw for a o 92w even though he’s not fit to eat 127p
noo at v nw nyw

4) Fourth anpn
a) X2°py "M and 3770 21 both say yow Xnv DY PR PUmY PR
b) ymm1 27 and X7 both say yaw &nw 5y PR Pomw



5) Fifth anpn
a) X a7 mwn
i) X2py ' says that AP0 7172 means yno ooy mnan 1»

(1) We’ll establish in the next 7n7p: that there’s a npY?nn of °&7mK on the
precise v w of X2°py '

(2) 21v°5R " says AP 7172 Means Ty NIPORY YN — note that a person can
arrive from this "p0 777" even during nunw nyw

b) X at g A7
i) X?wand 7770 20 disagree on what distance counts as npn1 777 for X2°py '
(1) x>w

(@) mpnn 777 means a 717 from which a person can’t arrive in %y at
TunY NYw

(2) nm an

(@) 1P 777 means a 717 from which a person can’t arrive in 225w even
at 7778 nyw

(b) and this distance counts as n11 777 even if the person can arrive
72208 nywa if he uses 07191 0°00

2) Sixth mnTpa
a) R at:ax T
i) Both mn1 21 and nww 21 agree for xnv that 7x7 RS 72 X
i) nww 21 says the same 1>7 applies to 77 77172 RIw
iii) 1mm1 21 says for AP 7772 XIw » that 737 72y oK
3) Seventh i
a) MooIN at :a¥ 77 at 7XT MR P 2N "7
i) aoRw
(1) Now

(@) If yama1 21 agrees with X719 that a person who’s I 7772 can arrive
720K nywa we understand that 195k *5% doesn’t apply

(b) So yam1 27 can say ¥ Ay Ox for Xow
(2) Butis it also correct that

(a) if ymm1 21 agrees with 7717 27 that a person who’s P10 7172 can’t
arrive even n2°5x nywa then the oo of 193x *9% will apply and won’t
permit a 1277 to be brought

(b) So M1 27 can’t say XM 772y R for 7T 2
i) nawn



(1) Not necessarily

(2) ymma 27 can agree with 770 2 if 1am1 27 applies ax7 702y K to a person
who can arrive 1%°5x nywa only if he uses 0>7191 2°010

(3) Because

(a) although the case still counts as np71 777 because the person normally
can’t arrive 12°OK Nywa

(b) the case counts also as if there’s a possibility of 7%°5x for the purpose
of 190K 97

(4) Contrast the case of 777 or &nv at .2x 77 at °y2 °x7 7"7 where there’s no
possibility that there’ll be 77°5% and that’s why based on 19ox 9% no 127p
can be brought for them

4) Eighth mn7pn as explained by mooin at 7%°0K nywa wn 10T 7R3

a)

b)

Xn>>12 according to the xo73 of MooIN at 130072 °377 17"'7

i) X2°py " says the following wpei1 based on the P05 of wor wR
(1) 7w IR MY 17°2 POD ROW RdY 1
(2) 7wy R MWL 17°2 POO ROW IR0 71T AR

X2 of MooIN

i) X2py ' says the ,od is Xnwv wopn who can’t bring a 1277 because of his axmw
to P 77

ii) to teach contrary to 7r1v°9x ' that for a person to be 1117 7172 he needs to be
in a 777 far enough not to be able to arrive either at nv nw nyw according to
X2 or even at 72°ox8 nyw according to nmi7° 29

lah!
i) nwwan

(1) The same w1 is a X°*wp to 11m1 27 because the wp>i7 uses the words 11°xY"
"7wy to teach also that x93 8RS 7°2v °r for 7Pt 717 the same as XS 772y °XR
%7 for Xnv

i) ymman
(1) The wpon applies only if xav and P 777 are 7777 Ron7
(2) Now ®2°py " holds that they’re *7777% X7 because

(@) he says that yaw axmw %v R POMY X o the 7Moo can deal with
2w v awa N Xnv and yow Xnw that aren’t 0N nywa i but are om
77°OK nYwa

(b) and it follows that xnv and P71 7172 are *777% X7 because 7172
7P also isn’t v nw nywa i but is 79798 nywa ot as X"wann will
explain below

(3) But jm1 21 holds that

10



(@) yw nximw HY RN oMW so that the p10o needs to deal with nin &nw
oW wwa who isn’t 72798 Vw2 1n

(b) while 3P0 9772 AW on is A°oK nywa i as X"wann will explain below
— 50 that 7778 ¥°n7 X7 and there is no wp>n

5) R"wann
a) 7oRw

i)  When yam1 27 explains that 2°py "1 holds that #pnm 7172 IS 77208 nywa i does
1M1 27 necessarily agree with X2 that X2°py "1 says the person isn’t nyw2
mwnw but is Ao nywa N

b) nawn
1) Not necessarily

il) ymm1 27 can mean that ®2°py " according to 777° 27 holds that 7972 RyWw on
7P can be 77°ox nywa wn if he uses 0°7191 2°010 as we explained earlier

6) mooin at .7¥ A7 at AT P A"y
a) Nwp
i) We’ve established that
(1) 77 27 agrees with X2°py " that yaw ®nv Y PR pomw PR

(2) if yaw Rnv 5y PPN Pumw PR the P00 of wor vk deals also with yaw xinv
and 2w >y>awa n» ’nw both of whom aren’t v nw nywa "1 but are °m
72798 NYwa

(3) ®2°py " in his wp»i1 is 7 the cases of &»wv and P 7772 both to disagree
with 21v°%x% "1 and to teach for 1 7772 that ¥ 85 72w )

i) Why doesn’t the wp>i1 also prove to 1717 27 that 717 7172 the same as &nv
deals with a person who’s not 70w nyw31 °m but is 7928 nyw2 *m so that the
mow of X9w is correct and the 7w w of 77> 27 isn’t correct

b) y1n
i) Based on a X120 whose details aren’t relevant here 7717 27 holds that

(1) A person who’s P11 7772 at avnw nyw isn’t comparable — it’s not a
"3 XoMT" — 10 @ YW K1Y Or a 17w S¥ awa N Rnv

(2) And it’s only a person who’s 77 7172 even at 792K nyw that’s 710 a
YW XNV ora W SYawa N RN

i) X2°py " in his wpiis in fact wopn a Yow *y°awa nn Rnv to a person who is 7172
777 and can’t arrive even at 72°0X nvw and this is consistent with the muw of
a7 29

7) X"wOnn qwnan at wnT 782
a) Now

11



i) since 777 27 himself says that ®»v and 7P 777 aren’t "2 27777 X017
because it’s a X120 that only 77°58 nywa 015°7 9127 WRW 7 is similar to x»w and
can support a wp>n1 for x2°py " against the 7w w of TryHx

ii) It follows that

(1) when m»oin on .xx¢ 77 says that yam1 21 holds that for x2°py 'Y we compare
Xnv and P77 717 because both are 7770 nywa

(2) it must be that n»oin holds that yan1 21 agrees with X719 and that’s why
T2 RONT

8) Twnn of the X nx at :2x 7
a) Nwp by manto XN

i) Since X says yaw XnuR 1R Pumw and for ow sy awa nn Xaw who can be
I at a7 oR nYw

ii) say also the same as 177> 21 that a person doesn’t count as being 7177 77172
he can arrive and be i at 7998 nyw

9) mooin at :xx A7 at Nk A"
a) Nwp

i) why does the xx imply that there is a xwp for x%w only if he holds Pvmw
P RHOX PPN

ii) even if X9w held that yaw Rnav 5y PP pumw PR we could ask a Rowp to X7
from oy 7120 where all agree that 010 9120% PP PvMY because the o 712w
will be 11 at 77°0K nvw

10) X"wnn at nanRpy "7
a) Nwp
i) Why doesn’t mpoin answer its xwp this way
(1) %27 asked his x>wp to X7 only because 87w holds yaw Rnav 5 PP Pumw
(2) Because

(@) if X7 had held that yaw nxmw %9 PP PuMY PR even though he’s n
772°0K nvwa

(b) 7w would have relied on the wp>i7 of X2°py " to teach that the 70 is
also nm7 a person who’s 719 77172 even if he can arrive 790Kk nywa

(c) And because of the strength of this wp°i it wouldn’t be relevant that
o 120 %Y PRam pomw

b) Possible y17°n
i) We’ve seen that 777 21 doesn’t rely on the wpi1 because 72 95 X7 X7
c) Possible y17°n dismissed

12



i) x92w could have said that he disagrees with the 720 of 7770 21 and does rely
on the wpi

13
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DRAWNRT 2937 ™02 PMWD INPT Manna O'RWHA IR 7172 RYN N0 1IDY NP
P97 AN N7 MWD NTS% INPTAT R2T 90 MOINY K2 inna Y RPUN B NPT
TAPD 31 WD /W MR RDORT 1D PUMR 20T RIPWOR I 7R AR
N7 'R PR ANT TR RUR PNWVD NP KDY XTI KD 20 "NINNT RHONT

TH'"mY X217 B9 unp RYT XNMN22

707 X% 5" H"op 15 N5R 1WIDY RAY MRI 7TRY ANPT 2R P10 RYNX 7''R2
7o2Y KD 72P7AY 902 OR SDRT 1190 UMD RIINY RMUN M1 IRP NN 1WIDD NPT N7
9™y Y0 T ROKRD TUER RRVT RIP AR NN0R MWD ANAY RNMN22 TURR KD

1) First nnipn

a) Based on 175K *5% a person who can’t eat a oo 127p at 79°OK NYW can’t bring a
nod 1277

2) Second TP
a) RIp
1) "I 7072 IR wolh v M 0 WOR WK
3) Third anTpn
a) mwn
1) Xw" as explained by nm»oin

1) a person who didn’t bring 1wX oo because he was Xav or P10 172
p g
brings "1 nos and isn’t n132 for not bringing 1w 1o

b) xo°0
i) Others also bring "1 o5 but are n1372 Pa»n
4) Fourth npn
a) Mmoo at :ax A7 at NS OX "7
i) Xwp
(1) If the mwn holds that yow v 23 PR POMY PR

(@) the xnv in the poo applies also to 17w >y awa ni ®nv who after nx
72°201 S 79°282 TN at night and also to yaw nkmw who if he’s 9210
becomes %282 7nn at night

(b) why does the mawn say n15ma w9 198 when the person could have
done R 77720

i) v

14



5)

6)

7)

8)

(1) *na-27 PR

(2) The xwp proves that the 7awn holds that yow nxiaw v PP Pumw so that
the oo deals only with 15w *wwa nin xiav where axmm 77°20 wouldn’t have
availed and that’s why there’s no nq>

Fifth nn7pn

a) In the prior m12°7 we established that yar1 27 who says nx17 72y °x for “aw
P77 7172 needs to hold that yaw nkmv 5 1R Pumw who’s 1 to eat oo 129p
at night

Xn>>12 as explained by the x7na
a) P 7772 AW KA PTIAM POUKRT PANWT NI PYNRNAI AT 10T DR PUIWY 1R
b) And even though even a 71 brings "1 nos

i) the p109 needs to mention that x»v brings a *aw nos to teach that >va 1ox"
"5 1P KD PWRI2 72317 — this is the same as "agn XY 702 oR"

i) and the mo» needs to mention 7P 7772 W " to teach that n1onn 1Pw0o
mooIn

a) Since the xn»2 says that a person who’s 7117 7172 is n1on Mo it’s vawn that the
Xn>12 holds that 7x 17 7 °k and that the person is n7o» 7o if he nevertheless
isn’t 72y

b) And based on the m»7pi1 the 17 that 7x™ 7 72 °X in turn proves that the xn»92
holds that yaw ®nv %y PRI Pomw

R"wann at "va ox7 "7
a) Nwp

i) Why doesn’t mooin derive that the &n>12 holds yaw xnv 5y PP pomw the
same as we derive this 77 from the miwn

i) Namely if the xn>12 had held that yaw Rav 59 PR pPumw PR the Xn»2
would have held that the 109 deals also with 15w >y awa nn &nv and yw Rno —
both of whom ought to be n13 2>n1 for not doing nxrm 79°20

b) y1n

1) This is no proof because it’s possible that the &n*>92 says n73» 7o with a
7 ' and can mean that the 1o applies only 7177 7172 "W °» and not to
VW v w3 N Xnv and yaw Rk

i) Contrast the mwn that uses a o°a1 1w of 11w 19k to teach that all cases in the
Xw™ are n1onn Mo including &nv

C) Xwp

i) Why doesn’t mooin rely on the 757 of the xn»12 to prove that the mawn holds
POW R1Y Y PR Pomw

15



i) Namely since the mwn says n1an 1ws this implies that x5 p1 ax which in
turn proves that yow xnv 2y Ppm Pomw

d) y»n

i) the mwn possibly holds %717 X 7°2v °X and says n95:1 12 1w only because
the ®9°0 says n102 12

ii) note that this 7%n isn’t possible for the xn>2 that has no xo°0 that deals with
cases that are nao2 p2a»n

9) Twni of mooin

a)

b)

c)

d)

Xowp
i) We’ve established that the n>>92 holds that yaw nxmw %y 1R Pomw
i) And as explained for the mawn this proves that by x»v the Xn*12 means nn &nv
2w *wwa and that’s why 792201 7R17 don’t avail and the failure to do nXi3
72°201 doesn’t result in N7
iii) Now
(1) for 2w *wwa n» xnw there can be no 17%°x at night and we’ve established
from 1%ox 9% that no noo 1277 can be brought for a person who can’t eat it
(2) So why does the & na say that xnv in the P09 is needed to teach that °va >k
9P R TV
717°n as explained by X"waia at 70 XOX 7"R2

i) The x narealized that xnv isn’t needed to teach that 72y R *y2 X

ii) The xnx asked that given that 72y X *va >k why does the xn>12 need to teach
that n1on Mws and the x»x then answered that the &n*>92 needs to teach a
n1on s for AP 7772

Xowp

1) but then the X nx hasn’t answered why the 05 needs to mention xnw
77N

1) we derive from &nv that Pr7°1 9128 7RI A071 WX

ii) the ov7» of this 7m° aren’t relevant here
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NPV AW a7 Xp 'R D9 nuw 7apy X7 2908 '2 12 TN Jupy 2aeD 'a
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292 RONR K D927 32 19WIBD 7PN TIT TUIRT SINPT RNN2 ONORT R''AwN PN
295 K97 RNI12 7579557 1892 2''Y7 9191 A9IORYD 7 KDT 7190 PIURR KD TITHT RTY
B9 RTIY 271 DWW MDTINT A0 PO RBY DY PUMRT B0 RNN2 77 0"YT R
ROIR RY IN 7% N2V DY PRONT X192 72T PMIT RU PR RRY DY PUmMR PRT
SRIN XM RY TR NYWA IN TR NYWa 01999 21297 XY 72 DaR w7 ORIn

2'T7Y 30D
1) First nnipn

a) Based on 175K *5% a person who can’t eat a oo 127p at 79°OK nYW can’t bring a
nod 1277

2) Second TP
a) od
1) ... 7P 7072 IR wOIH KL M 0D WOR WK
3) Third anTpn

a) For x2°py "1 according to 770 27 a person is 70 7172 if he can’t arrive at nyw
PripAh

4) Fourth npn

a) 101" says that if a 73 was =°°an1 between Pwx o5 and 1w 1705 he doesn’t bring
1w oo because 1w oo is PMWRIT PAPwn and at the time of pwxa the 13 was not
yet >an1

5) xp»32
a) noRw

i) Since even a 7m brings "aw nos why does the m105 need to say that “nw °»n
7RI 7172 brings a *aw nod

b) nawn

i) To teach that there’s no n1> for a person who doesn’t bring WX~ 1od because
he was P11 7172

6) mooin
a) Xwp

i) For 177 21 a person who’s P17 7172 won’'t arrive 712°9K nywa and based on
92X *5% N0 J27p can be brought for him

i) why does the »0s need to teach nao7n Mo for this person
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b) y1°n as explained by R"wamn

i) 77w 27 says the oo says 7P 707 to teach that a person who was 1 7772
can bring " rno» and

(1) we don’t say that because he was “unfit” to bring W2 oo we treat him
the same as a 701w 3 after PwR" 1od

(2) and instead say that he can bring pwx17 129w even though he couldn’t
bring a 127p in wXA

7) R"wann
a) Nwp

i) moown has explained why 77170 27 needs npnn 797 but the xn»91 itself says
7?17 777 is needed for a Mo from no

i) So the xn»92 obviously doesn't follow the nv>w of 777> 27 and holds a person
can count as 7171 7172 even if he can arrive 770X nvwa

b) pmT2 7N
i) It’s correct that the xn>92 doesn’t follow the nv>w of 777 27

(1) But this isn’t surprising because we know the xn>92 disagrees with 2
77T on another 127 anyway

(2) namely

(@) the xn»92 must hold that yow Rnvk PR pumw for the same reason set
out for the 7awn in 33°073 >3 77 MDOIN ON :2¥ A7

(b) yet 77 27 says at 7% 77 that yaw XnuR RN POmw PR
c) Nwp

i) We can accept that 777> 27 says yw RabR RO Pume 1R contrary to the
Xn»12 because we established in a prior 112°7 that x2°py " himself also holds
that yaw &nv 59 Ppam Pumw PR

ii) butitis aXwp to 777 27 no Xin supports 777 27 and says that a person is
7P 7772 only if he can’t arrive even at 79°9X Nyw
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N7 91 INRD MIDIND B 9BwY 1Rk 'RwMDD R2aR D 2R TNRRT MR
Bar RI7 RPN T TN 29I 72907 2N AR RITIRT AR VW0 RO AT
T P'"H 9DART MYD SIRTI STRINT IR N RNT TINT 720Y 9DT IND RN TOAN2
DIIPIN 2 PIRT M1 1T ANITT DDIY TR MMD RDINT 2 N RDT AT ROUTIN
NN 297 D27 WARPT RN 2R 'on 'R w07 RUIIN (1R) D 1 vy Hhoa
A1 ARIYA 'OR 'R WIDT YIT QMM ROT WP 15 2922109 150N PR T TANR 221
DORWIT T 10 2WAD ITRNT TVANT RUTTA DR D902 DUPRIN 2% PRT RAPIND KON
DTN N7 MARPTA D902 DULPIN 20 AN 2R SRR TV 2MAR SIXPRT Mo TIND
220 NMN 21T DOT RIIA VDR 17D WP 2I9SN0N D57 29YRR IN TR 7R TR
DNPIN 27 "'V AR P NT T TV IONTY N2 Y 2920100 ND0R PR U TR 'R
W2 'on 'R RIST PAwAR 0D MW p''n YR Pawn a7 wpn 2"'URT NIT Y902
Y9 RPT 0% 30 MR D" "2 RIDT PRWwRR AN 71277 X7 PN YR pawny
WRR QMW RPN WO PN DR PR D902 DIIPIN 2% PRT KR WD DR NawnT
2290 NN W BT R PN SR PRwAT IR OWPN ORI Y902 0uYPIR 23 BT
TP'TY TR R AN 12 20n PR M 'R
1) mooin
a) First xowp

i) A Xn>>12that says "2wy 7R 213 NIN 2D 2Wwon 90" IS M0 a waTa that says 92"
"> wOHW NIN2TH WIRW O WO 1710 Wi

if) Since if the w7 followed the xn»92 we’d see only three 0°231> while in fact
We See 1901 PR 0°201)

b) v n

i) 0w PR o isn’t included in the o°»° w°2w mentioned in the w17 and ou»pIR o
sits under 1507 PR 0°2010

2) Second xwp

a) The xn»1a that says "aw 7nx 2210 nn Y212 2w 93" is 1Mo a second Xn>>1a that
says mw P"'n 720n YpI PRI 7

b) Here’s why

1) @31 in 7°nn noon say that "a7wnn [ Pnnd yarn onw maxd" so it follows
that 27vmn o panna is also a oan of maw p'"n

ii) Now
(1) If 79w 7nR 2910 NN 2R 93 it’s 1anon that each other 2315 also covers an
W TR
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(2) And since 0°2513% 1901 PR it must be that 09w 5w 15K is a 72 of 73
7Y D9D9R

3) nnTpato R"wann
a) N
i) OROT 72 7am1 M says "maw MRy TR v paRa g
b) °"wn

i) It’s vawn that °Xo7 12 7371 " also says 1723 n7»3 o2 5w 127K based on noon
oA where the Xna says 910 7y 021057 71001 P72 TV PR 1 PRI 7R

4) R"wan
a) xwp to the second xwp of moon

1)  Why does m»oin for its second x*wp need to rely on the o°»om in 7°nn noon
who disagree there with a %57 181

i) moown should better have relied on the xan°» of *X>1 12 33 " in our & ma and
on the X0 in 7°an Noon mentioned by >"wA

b) v n
i) It’s possible that the &7m3 in 7321 doesn’t take 013X 0 into account

i) While the &3 in 7nn clearly includes o1k o in its nawn because the x7ma
there speaks in terms of "yaR? w11 M2 27¥n% nomn" and the xna also
says ""21 0°%5n0n 227 27N IR 1A Ian STaw yIn"

c) Note that
i) This 9%nn also explains why mooin doesn’t also ask the following xowp
Q) xwp

(@) The xn»12 of "awy 71X 2313 NAn 2w°n 93" isn’t consistent with another

Xn»12 that says that w15 is o2wa owwn X

(b) Since based on these min>»12 there ought to be no more than 60 0°2>1
yet we see that 0°2513% 7901 X

ii) But
(1) the 7% we set out earlier explains why nm»oin doesn’t ask this xwp

(2) namely because it’s possible that the second &n**72 doesn’t take the o~
D1»PIX into account

5) Twnn of maoin
a) Xwp
i) "0%W2 '0n IR WIDT PAWAR 190w MRn 1 oW nawn”
6) R"wann —r0a of the xwp of moon

a) nooIN is supporting its xipon that the measure of 7w p"n includes o1»pIx o
because
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i) adistance of 500 maw is much more than 60 times the size of w1>

il) so it must be that the nawn of w13 doesn’t include 011X 2° while the nawn of
73w NRn 71 does include 01u»RIR o
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1) ;s
a) 1od 2P
i) {MWwyan mpn} wpn A1 wInD MWYA IMKRY DR N7V 9 DX 12T
i) {oom "7 Mpha) A wIn or WY AvaaR T nonwnb 037 M
1) 777 WM DRI 771290 DR N7an
b) 7nn 2P
i) 3200 2paR 1w L. N %127p IR
2) 3232727 K8RN™M32
a) We derive that 7nn 127 needs o»° "7 Mpea from a mw 791 of nnwn-1wn
3) "wn as explained by X"wnmna at 1205 a0 "y

a) The X7 at this point assumes without any 12> that m 17 oo requires M2 the
same as 7°nn

4) Second xn»92

a) M wIn? My is a vwn that teaches that "o xn nos 71" is Mwya npn but 1o
MM7 isn’t MWy npn

5) X
a) xwp to the xn» 2 0f 223272

i) Why don’t we use a similar vwn to teach from =Wy nya7R v nnwnb 037 "M
T wIn o1 that "Ip°a v [0 1290] NR PRI 0O '7 P Y 00%n oot

6) °"wn as explained by &"wann at 177% 7 "7
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a) The &7 means also to ask why the same m1y°» isn’t used to be Mp>2 vynn from
M7 nos

7) Twnn of the X
a) y™n
1) Because of the mw 17°1 mentioned earlier we’re not w7 the w1y n for °nn

i) And we’re not w7 the v n for m=17 nod because of a »2» from nx n7an
nxr1 77avn that teaches ara ar wIn mmavn 97w

iii) and we instead apply the vy of 177 to teach that there’s no M2 for *1w noo
8) Twni of X"wmn at 1707 A"y

a) Note that once the & na recognizes that a special »12>7 is needed to teach why 1
isn’t M2 vynn for Tnn

b) The &7na realizes that a similar 12> is needed to explain why 717 isn’t 22 vynn
for mm7 nos

9) >"wn at ar> a7 wIn YW MTava % xw a7
i) "M% arwpn M7 onos 90 "
10) X"wnn at viw 77
a) Nwp to "wn

i) Once there is a vy°n that applies to M7 oo what does n7ay accomplish by
comparing all mm7 °nos to each other

b) v
i) °"w9 means that the mmay of 7 wn also includes o*xn 1o
11) qwnn of the &
a) Nwp

i) Why aren’t we w17 that 7157 71%°%2 w27 NX 120K IS vynn that M7 oo isn’t
72792 DoK1

b) y1n

i) Here too we rely on the »12>1 of n7231 and we apply the ;17 to a wn7 of ™
X2°py and 71y 12 1Y9R " whose details aren’t relevant here

12) X"wann at °% anh a7 KXo 0"
a) Xwp

i) Why doesn’t the & m3x here apply the vwn» of 1717 to "w oo the same as the
X did for mpea earlier in the X210

b) v n

i) For 1w nos a P09 says 72 ¥ 1Imn 1PRY° K71 so it’s obvious that there’s a 1°7
723X at night for »aw no»
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c) wwp

i) Then it’s a 10w 93 that n717% PWwK 709 is 72°92 %81 s0 why does the xna need

to rely on n7am
ii) Note that mooin itself asks the following similar X>*wp in 72w A0k 2R 7"7
(1) xwp

(@) The x7mx asks that ¥2 11awn X7 oxyy ought to teach 121w WX 0™ 8n Nooa

M7 nModa 2w Hax
(b) Why doesn’t the X113 answer that
(i) since there’s a direct mo°x for oxy n7vaw for *1w nos
(i) it’s a M 9p that the Mo also applies to Mm% Pwr- nod
D1 A n" TN

ROR 2" "2 51 32 92 "3 D B2 9777 vas 2D swa Na1 "o a2 't
'D MDTIND 2W NI RTAN 2RVPY MDIAT N1W DO 1D DR 2wn nyn
WRNTA2 23 1P B''Y '52Y NIDOIND 2w RXAN T RIMD2 PIPTR WO T 23 DY

aw
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ANX 7Ax A" TN

5oy PWRD2 W'D 12 172N KD 2% W oD 29N27 1170 "2 AR Par 7''7a 'own
TANT IR 1IOD2 12 172WN KD 2XYY 2nonh J1WTH 199 PRIR 73 52 N7 PR
IND IR D''RY TIRD T2 DD AR T MR 12 PRY 2%V 'RY 7 12 v axy
IR TODA AXY NTMAR 29007 N7 'K 2P 'Paw PIvh PWRI 7oDD NTAMT w7
939957 A1 12279 111 12 PR XY ER M20D o0 RR T KDY TIBND UK
TOWND VYRR VT NI KXY DAY MW 052 ANY N2 TPIWINRT 119D WIRK yh
7919 PR 0D QXY NTAR 71 RIMY NTAVY TIUEN o0 "I unwn XY WY
M9 7195 NORTD M IR 7052 ANY DTN IR NRI 70D NPT Yaon MW noDa

2P'1ITY 102 DD J19MRRTD YD uynh TnbY MR 12 PRY A%y

1) mnpn
a) X in Py 70 pav at .o a7 and ax A7
i) oKW

(1) Why does the nmn say for »1w nos that 12 11awn RS axyy when there is
already the same ™ok for pwxn noo and the 70 already says for *1w nos
that \mx Wwy° mooi NPT 932

i) m2wn of nmi 2 0K
(1) To teach that the mo°x applies to both min 12 ww axy and mn 12 PRY o¥y
iii) mawn of 1121
(1) To be vynn certain w75 that are set out on ;7% 77
2) X here
a) noRw

i) Why don’t we derive from the 12 of 12 172awn &% oxyy that the Mo°X doesn’t
apply to mm7% KA ros

b) n2wn as explained by X"wamn

1) Because "n7ay" in 717 W2 NRIT AT2YT DR N723) teaches that the m7ay for
m7 oo are the same as for oxn noo

i) We then rely on nosn npin 933 to teach that the mo°x applies also to »1w nos

iii) And as a result the oo for *aw noo becomes available for the o>11m°% of "ok
and the 1120

3) mooin
a) Nwp

1) Why doesn’t the X3 answer that since there is a direct mo & for oxy na7aw for
W 10D it’s a M Hp that the Mook also applies to M2 WK noo

4) X"wan
a) Nwp
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i) if there were no m»°% from n7231 to teach that oxy naw applies for Pwxn
mMTo

i) we couldn’t rely on noon npin 935 to teach that the 10K applies to »1w nos and
we’d instead need to rely on the direct m0°x in the po» for »1w nos itself and

also as the basis of a = %p for pwxa nod
iii) so the pos for “aw nod wouldn’t be available to teach the o>7v°% of *o>x and the
7220
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1) First 7n7pn on Nnn °1w LAY 7aRWY 70D
a) 1M

1) If the wr" was xxn1 only after *1w was vrwa then the v nw of 1w wasn’t y21p
the 1w with a oo aw and the 1w doesn’t count as 2°7°2 *1717 and can be
29p as oY

ii) If the Pwrn was xxn1 before »1w was vnwi then the nvonw of »aw was vy the
WX with a nos ow so

(1) the pwxn counts as o°7°2 » 177 and can’t be 27 as 2°n%w and aRNDW 7Y 7Y
(2) mwxn is then sold and its o°n7 is used to buy a oW 1277
b) X1

i) If the pwrn was xxn1 after mgn then mgn wasn’t ¥21p the Pwra with a nos aw
so the wxA doesn’t count as 0>7°2 117 and can be 27p as oW

il) If the Pwrn was xxn1 before mxn then mxn was y21p the Pwra with a nos aw so
the 1w counts as 0°7°2 "7 and can’t be 27p as obw and axno°w 7v v and
wRA is then sold and its o°n7 is used to buy a o°n>w 2P

2) Second 7P
a) if MR counts as "7 its 7N is also 171 and is also [y
3) mwn in 77N Noon
a) There are five mxvn that are mnn
i) nxom TN
il) DNXvI NN
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4)

5)

6)

7)

iii) "oy2 nnw nxvn
IV) AWK DRI 2"IRDY DI 7722 PO 119N AT DRV
V) 1N A02YW NRun

b) Note that

i)  Where nmaxr was nxxni before nanxa “5va 119501 the 7m2aR isn’t 7nn and
instead axnonw 7v 7v1n and it’s then sold and its 2°»7 is used to buy another
nRLI 2P

lah!
a) nww of wph won as explained by >"wA at woph w7 "7

1) "W 712vw nRon isn’t 7nn but is instead 7319
b) xwp of the & nx in 770 ndon

i) We established that the 7awn says nni for nniw 7172vw nRoR
C) y™n

i) The mwn says 7nn only if there are additional niny»n
" at 1oxo "7

a) 1N nNavw nRvn that is 70— is sold after it becomes a o n%ya and its o7 is
put in Mo as a 7271 to be y»>pn the mam

b) This 2% is derived from a w7 of yom vy
Twnn of the X3 at .1 77
a) PRIMWY X
i) Y17 °n1 MDD YN RV 9O DRW 27p N0 NN NRVAAW 93

i) The xrnx mi of the X assumes that the 575 of Yxmw applies to all four of
the five nxvn cases that can occur for o°nos namely all five nixwvn except T
nxwn that can’t apply to o°nos where the 1297 needs to be a 71

b) xwp of "Xi7 RPN

i) We’ve established for w°p? w1 that "nniw 772vw nxvn ono" — where there is
no additional xmy»1 — is w17 yet we know from a xn»92 that yniw 772vw nos is
o°nhWw 27p and isn’t Ay

ii) This isn’t consistent with the 973 of Hxmw
moon at M a7
a) Nwp

i) For nnw n12yw nxvn where o2y weren’t yet 19301 with another 129p the o7
isn’t used for nam: y>°p — instead o°%ya use the o°»7 to buy a nXwn to achieve
this 7792

b) Here’s proof by way of a mm 5p
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i)  For nmar nxvn we established that

(1) If the nxvn is found after nanxa 0°%va 1795 there is a 73 "7 in the sense
that 7nn

(2) Yet if the nxvn is found before nanxa “Hy2 1793 the 127 is that 7v 7w
axnonw and "“»n7 are used to buy a replacement nxvr for o>ova

ii) So for nnaw 772vw nXwvn

(1) Where we’ll establish that even after nInR2 0°%y2 119001 there is no 7
T because the 197 isn’t inn

(2) It’s a 10w 9> that if o°%ya weren’t yet nanX2 79107 that the 127 is that v 7y
axnonw and "“n7 are used to buy a replacement nxwn for o>ova

8) X"wnnn at nnm a"y

a)

b)

d)

ToRY

i) How does maoin know that w°p v says that nniw 712vw nxwn is 7v11 and
isn’t 7nn even if nanRa “5ya 199301

121N

i) Because otherwise the X723 in 770 wouldn’t have asked that the 7w in
77N that says 7naw 712vw nRLA is ANk is a Xwp to wph w1 who says v

i) Because the X3 would have answered that the mawn says nnn because it deals
with where nanxa “5va 1719501

Rowp

i)  Why is it that moon in its amm 9p consider that only finn counts as a complete
T

i) When we’ve established that the mawn says that mxm a7p X¥n1 728w 70D
counts as o°7°2 7 and the 7°7 is 717 — not nn

YN

i) For nxvn where the alternatives are inn» or 73717 a case of 7317 doesn’t count as
A3 T

i) For noo where the alternatives are w11 or o bW 21p the case of w11 counts as
A3 T

9) mpooin at X177 K91 17"'7

a)

WP

1) We established that the k73 asked that for iniw 772vw nivn the 17 is 7v17 and
yet a Xn>12 says that \naw 12yw noo is oW 2P

i) Why didn’t the &3 also ask this x*wp to the %53 of Hxnw
(1) 7nn nRvM NN yet nos NN isn’t o°nPw 27p and is instead 7y

10) X"wnn at ®9901 7"y
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a) X°wp to the x>wp of mooin

i) noo nan is v only where the 7 nn is of a 129p that was n71 as explained
in the mnpn

11) X7 qwnn
a) y1nto the xowp of "Xi7 RO
i) MR KD 7INT2 PTIARA PRIAW IMRP 0D
12)>"wn — 7x02 of the y1n
a) xmw never said his 995 for niw 772vw NXwvN
b) He said his %92 only for 728 meaning nanx2 “Hy2 179°5W ATIAR DXL
C) TORW

i) Why does the &7 assume that Sxmw didn’t say his %95 for “5va 1nnw nxon
d) mawn

1) The x7nx will soon explain that for 77ax nkwn there can be a case where the
17 is 711 and to which the 555 of Hxmw applies that where nxwr is 7y the 11
is that oo is also v

ii) The %93 can’t apply to ¥ 10 because in that case there’s no case where for
nRon the P7is oy

13) X"wmn at 10073 °97 "
a) It’s for the same reason that the 595 of “X1w doesn’t apply to nXvr n7MN
14) qwnn of X"wan

a) As mentioned by >"wA the k3 will soon establish that there’s a case where nxuvn
TR IS YN

b) But at the end of the &0 the &1 will determine that 77ax nxvr is ann in all
cases the same as "%y2 1nn where the nxon is nn2 in all cases

c) That’s why >"wn in the X1pon needs to set out the following reason why Hxmw
deals with 772ax nxvr and not with “%y2 nnw nkvn

i) for all cases of 0>y \nnw nxwn the 17 is nnn

ii) but for o°%y2 \nnw nos there’s a case where the nos isn’t 22w 27p but is 71
namely where mxn anx 1oy 101 as the X s will explain on .nx 77 for all xn
*K7 other than nwnw "

15) mawn in 790 noon
a) TNWRIT NIREAN NN DI WO TR MRV W07
i) "1
(1) mnn b 29PN 1R DR
i) oomom
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(1) o°%v217995n1w OTIP NREAI RiT D29V 1IDINIW IR NRYAIY ROR 70H DRV PR
M

16) R
a) Xwp of "7% nmown n MarY" to the 593 of Hxmw
i) SRmw can’t follow o°non because

(1) we’ve established for oo according to X1 ' that if pwxa was found after
mxn it’s oobw 27p even if 1w vnww oTP R¥HI

(2) yet for 0°%v2 ywon1w oMp NR¥NIw nRwn the 17 is 7y11 according to omon
b) 10 to the Xwp of 7% nnown sn 7Ky

i) 9Rmw agrees with a1 that the nxvn is nnn even if "o°%va 9501w o7IP NRYM"
ii) So his %9 is correct that

(1) Since mak nxon is nn even if nkxna before 0°%y2 19501

(2) It follows that 72x oo that’s nx¥»1 before 0°%va 179501 is MW 27
iii) But

(1) keep in mind that this applies for ros only if the oo was found after mxn

(2) and the & mx will shortly need to deal with the case where nos was found
before nmixn where the 17 is v

17)°"wn
a) Nwp

i) The & nx here could have answered the x*wp of 7% nnown " 71ar) the same
way a &anx xw°b of the xnx answers this x>wp on 'a 7y

i) namely

(1) Sxmw agrees with 721 that for nos the wxn counts as »n7 if a7p x¥NI
7vnw and as a result is 7y11 and isn’t 2n%w 2P

(2) So the 975 of >x1mw applies even if he follows the v w of onon
18) X"wnn at % 87220 M0 YRmw "7

a) Note that at the end of this x>x10 the &3 is 72791 the v w of X1anx x5 based on
proof that jam " follows the nwv>w of 727 while Sxmw follows the vw of &1 '

19) qwni1 of the X
a) Xwp of "ann nmar Ho xm" to the 995 of Hxnw
i) For "2 every case of 7max nXwr is 7nn

il) and yet we’ve established for X7°7 " for nos 127p that Taxr no» that was xxn:
before mxm is 7v11 and isn’t 25w 2P

b) y»n
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i) The same way that we’ve established that the nxvn-side of the %%5 of Sxmw
applies only to nxvn that’s 772ax

ii) The nos-side of the 595 of >xmw applies only to nos that’s Max —and a 1277
oo that was xxn1 before mgn doesn’t count as "712R"

iii) Similarly a nxvn that was 7%°%2 771ax and was found at 912 9 is 711 and
isn’t 7nn

c) wwp
i) Since
(1) »2n disagrees with o»on and holds that 7 max nxvr is ann even if found
before o°5y2 1930w

(2) And 9% doesn’t include in his 975 the 1>7 of 7w for 7%°52 f7aRWw NRLN
because this nxvr doesn’t count as "771aR"

i) Where for "2 is there a case that nxvn that counts as 772ax is 7317 and to
which the 52> of Sxmw applies that "7v11 nooa Ay nRvRAWY 53"

d) y»n

i) nRoris ay in the case of X°vwIR 'Y where nyank? mxwn *nw w9 and the 177
is that 7van *awm 17 NR2 99507

20)>"vn
a) Nwp

i) The case of Xy " doesn’t deal with 77128 nXvn and we’ve established that
XM says his 995 only for 772ax nxwn

b) y1n

i) This xwp is correct but the X nx is 79n this su*w with another Xwp anyway
as we’ll show below

21) m»poin at XYW "7 1"
a) First y1on of "1 to the x°wp of *"wn
i) Partl

(1) ®vwIxr ' says v also where nvank? nikwn '2 woaoi7 and one nkwi became
77aR and was nxxn1 afterwards and o°5va are 193nn with the other nxvn

(2) »21 agrees with ®ywIx "

(3) It’s for that case where the 975 of Sxmw applies according to a1 that
wherever nxon is 7317 the 1°7 for nod 1299 is also 7311 in a similar situation
— namely where a person was N1 nx? 0°nos '2 w>1on and he was 2°9pn one
of them the other is 7¥17 even if the other became mak and was X1

i) Part2
(1) noxw
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(&) Why in fact does »27 agree with x*vwx " that the 17 for amar is v in
the case of mxwr '2 w*on
(2) nawn
(@) »2n relies on a certain 120 mentioned by noIn

(b) The o>vo of this X120 aren’t relevant here
b) Second y1°n of »" — 1Kk — to the xowp of >"wA
i) The case of X°ywx " doesn’t deal with where there was an actual 7max

i) The 99> of "xmw is still correct because the nxwn that wasn’t used for 77792
counts as 1172aR based on a second X120 mentioned by msoin

iii) The o>v1o of this second X120 also aren’t relevant here

22) R"wAnn at RywIR 7o A"y
a) For the y1°n of "n1 k" mooin also needs to rely on the &2 of the first y1°n to
explain why the nxvn that counts as 772aR is 7y

23) qwnn of the &

a) Xwp to "X
i) In fact for noo if N>R 0°nod '2 w57 and he’s 27pn one of them the other
counts as n1os N that’s 05w 2P

i) And this doesn’t fit with the 99> of Xmw that wherever nxvn is a1 then in a
similar case noo is also 7y
b) y1nas explained by *"wn according to X"wAn

i) Partl
(1) 9% doesn’t follow the nvw of »29
(2) Instead >x1mw agrees with a wow of nwnw ™ that

(@) all five mxwr are mnn in all cases so that for example 77128 nXvn is ann
even if nx¥n1 before o*va were 79151 with another 121p — the same as

11
(b) Wherever there was no i72ax and o°%va were 1911 with another 121p
the 177 is also i contrary to the nvow of XovwIR '

(c) It follows that the %5 of Sxmw is correct also in the case of XovwIx "
since for nxvn the 17 is nn and for nos the 7 is bW 2P

i) Part2
(1) noxw

(@) But when does the second half of the %92 of >xmw apply that where
nxwvr is 7y then nos is also 7y

(2) mawn

38



(@) In fact 5xmw never said 7317 oo 7YY DRLMAY 95 — he only said 92
D°M5W 2P N0 Nk NRVAAY

(b) And this applies both for 7max nxvn even if nanRa o°%y2 119001 before
the 771ax was nxxn1 and also for the case of X*ywx "1 where there is no
771N

(c) In other words Sxmw and nwnw " deal with all cases where 19on:
nanxa o°va whether or not there was 728

24) mooin at HRvAw XoX 17 as explained by R"wmn at HRvaw nR "7
a) Contrary to *"wn it must be that "xmw says his 995 only for 72ax
b) Because if Px1mw says his 92> also where there was no T2’

1) there would be the x*wp that for nos the 7 is 7y if Rxnan 7ax1 before mxn
even though nxvn that’s 77°% n7ax is 7nn according to Pynw "™ who says nxwn
is nn in all cases

c) Butif >xmw says his 92> only for 7ax
i) There would be no xwp

(1) Because even though nmaxr nxvn is ann in all cases still 2xmnw in his 595
doesn’t deal with 79°% n712X that doesn’t count as "7712K"

(2) And neither does 2xyw deal with oo that was xxn1 before mixn because
we’ve established that o5 that was xx¥»n1 before mxn doesn’t count as
"7aR"

25) {1y e

a) Based on a careful reading of »"w it can be argued that >"w- agrees with >"- that
although nynw ' says ann even if there was no 2ok still Sxmw says his %2> only
for pmax}

26) qwnn of mooin as explained by X"wain at nosa % X201 7R3
a) Nwp

i) At .nx a7 the x7n) says for nos that if o>y were alive at mxn but died
afterwards that nynw "1 holds that Pr71 3% 20 “%v2 and the ann2 is 5w 29p
even though mxn was y21p the 1277 as a oo 127

i) Now
(1) since we established that Yxww agrees with nwnw "

(2) How can %xww hold that mxn o7 xxn1 for nos is 7y11 because mxn was
ya1p and the nnna was anT

b) y»n
i) 9Rmw doesn’t follow Nwnw " on the ampa of PrTa X o0 o2
27) qwnn of moon — nvw of a"awn

a) “xmw in fact says his %93 also where there is no T2°x
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b) xwp

i) We’ve established that if PXmw says his 975 also where there is no 2°x the 1°7
of ny1n for noo that is mxn 7P X¥n1is a X°wp to his 97

c) y™n

i) 2xmw in his %22 says only that wherever inn nxwn there is a 7% where nos is
0°n%w 29 namely where mgn nR? xxn1

28) ®"wann at 7% e A"
a) atan earlier 25w of the x>0 we established that

i) if YXmw agrees with »21 that 77ax nxwvn is mnn even if nkxn1 before 179oM1
apiplifa}

ii) it would be a xwp to the 595 of “xmw that the mawn says that nos that’s 7ax is
717 — and not bW 27p — if it’s M¥n a7P R¥Al

b) xwp toa"awn

i) Why didn’t the X3 answer that >xw in his 592 says only that wherever
nnn nxwn there is a 7¥ where nod is o°n%w 27 namely where mxn Anx? X¥n1
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317 553 'OINT WA MMM KRR O'WNER 1R 557 7T B0 B''oY 115930 nawn
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1)

2)

3)

4)

5)

Z’?"PW 7903 1TOD RI2% 1TODIT INIAD T N0 2T NIRRT
mwn
a) D°nHW 1MTA RN ARNDW TV Y 2°IW NW 12 I57 X MOD? 72°P1 W0
nvoIN at oY 7Pl W AT
a) 1n7that becomes available before oo can be used to buy ros 1297

b) the mawn that says 17 is used to buy o°n>w deals with o°n»7 that becomes available
after noo

i)}

a) The mawn proves that on7a "7 W
TR of a2 N7 "

a) °"wa nawn

1) 72 "M W means that even a inna that was wpin with oon7 nwp and is
777 can’t itself be used for a 127 — the 72772 needs to be sold and 17 can be
used to buy a j27p

b) nawn of man v of »"wA

1) 72 "M W means that even v»7 is 771 and can’t be used to buy a 1297
X"wann
a) Partl

i) The mwm wies of »"wA obviously disagrees with the nuv>w of mnoin mentioned
earlier

b) part 2
i) These words appear in an 13"77 in >"wA after "1°29 n2wn"

(1) °n®11 377031 .19 77 AWK JPWARTD T0D? MKW 10D IR YA ORAR 07 aonm”
"Mna

i) Note that
(1) Since the 131"nan asks that it ought to be 2m» to use 117 to buy a nod 2P
(2) The n"nx7 obviously asks its ®wp to 73m w170 and not to 11°27 n2wn
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